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= # (T-H) & A & %:E (M)

1 B4 100, 324 1 et 74, 572
1 &#He 100, 324 | AT 74, 572
2 FHOE 975, 674 2 FEZERE 84, 086
FHOR} 950, 571 1 FEEESW 84, 086
s 25, 103 3 ERRAE Y AT LE 571, 601
3 EHEXHE 8, 552 | EfRRE AT 2% 571, 601
1 [ A B 4 8, 552 4 ShF ¥ 209, 499
4 B4 8, 805 1 EfR LB S s 21, 595
1 RZEFER 8, 805 2 PRIRE SR H R 187,904
5 HERES 223, 500 5 HEERHE S N4 223, 500
HERESZ AE 223, 500 1 HERES S 223, 500
6 MPELA 235 6 FrRld A A4 6, 100
1 B PESER A 235 1 FeplEdraEe 6, 100
E YN 511, 344 7 }%Z\éé%kﬁﬂ@yXTA% 4,080
ft 2 FH A& 1 1 ﬁgé;ﬁé%ﬂ@yx?i‘% 4, 080
R YN 511, 343 8 FH 4 278, 982
8 i 4 5, 766 1 Rsr4e 278, 982
ik 4 5, 766 9 fEABEE S 1
9 FINA 156, 064 1 fEASERS 1
1 GEIA 156, 064 10 X4 536, 843
1 F 3 H4 536, 843
11 Pt 1,000
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ik A % H
% IH & B L K H & B L,
1 Tl 1,000
w AN A F 1,990, 264 w o A& F 1,990, 264
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CERS ) 7E)
% A 53 H
%Ek = & %:E (T-H) & A & %:E (M)
1 A 88, 704 1 fegt 52,310
1 &#He 88, 704 | AT 52, 310
2 FHOE 809, 604 2 FEZERE 84, 187
1 FHoR} 809, 604 1 FEEESW 84, 187
3 EE 4 800 3 LET MABE Y AT N 141,115
1 [E B4 800 1 LY ML 2T 2% 141,115
4 R4 2 4 Mg R 95, 640
1 AL & 1 1 BT N EREER 52, 094
2 BRZEER) 1 2 BRI 43, 546
5 HERESSZ A& 350, 000 5 HERES I 4E 350, 000
1 HERESZ AE 350, 000 1 HERES S 350, 000
6 MPELA 11 6 FrRld A A4 4,900
1 B PESER A 11 1 FeRlE A A e 4,900
(YN 385, 611 7 R4 306, 174
1 f s FhioA 4 1 1 &4 306, 174
2 BT MAE 385, 610 8 fE A& EES 1
8 i 4 54,510 1 AG RS 1
1 fh 4 54,510 9 FE3T A 653, 946
9 FEIA 31 1 3E3 4 653, 946
1 GEIA 31 10 T g 1, 000
L Pl 1, 000
% A G 1, 689, 273 % & & 1, 689, 273
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